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««Luybpnipyniuubph Ynndhg Jéwpynn puwywhwywiwlwu Jéwpubph tyuwnmwywihu ogunwgnpddw dwuht» wjwunwiuh wupwwbnnipyui opkuph hwdwédwyu
puwywhwywuwlwu dpwgptph hpwwitwgdwu hwdwp Cwjwunwuh Cwupwwbnnyejuwu hwdwjupubphtu unipytughwubph wpwdwnpnid» dpwgph 2powuwlubpnid
unipybughwubp unwgnn hwdwjupubph

hwquwp npwdubipny

Unwgoht Gnwdujwy

Unwgohtu Yhuwdjwy

huu wihu

Swph

wjn pYnid’ puwn
pingtwnwht Swiuubkph

wyn pYnid’ puwn
pynpbwnwjhu dwhuubph

wjn pYnid’ puwn
pjngtwnwht Swiuubkph

wyn pYnid’ puwn
pinpbwnwjhu dwhuubph

nuwnbuwghunwlw wnunbuwghunmwlwu nuwnbuwghunwlw nunbuwghunmwlwu
nwuwljwpgqdw nwuwlwpqiwu nwuwlwpqiw nwuwlwpqiwu
hnnjwdsub hnnjuwéub hnnjwdsub hnnjuwéub
NN Cuntuuph whidwtnudp njwéutph nywéutiph njwéubph nywéutiph
Cunwdbup, Cunwdbup, Cunwdbup, Cunwdbup,
S s S 3 S s S s S s S s S s S s
i5 = i5 = 15 = 15 = i5 = i5 = 15 = 15 =
=S o = 3 o =3 o = S o =S o = S o =S o = S o
= 3 3 3 5 = 3 5 3 3 5 = 3 5 3 3 5 = 3 5 3 3 5
252 | 2532 252 | 253 252 | 253 252 | 253
s | T2 S| T2 s | T2 S| T2
s = 3 3= 3 s = 3 3 =3 s = 3 3= 3 s = 3 3 =3
dag |5 23 423|523 dag3 | 5273 da23| 5273
S £ S £ S £ S £ S £ R S £ S £
cLHuULLL 3,200.0 3,200.0 0.0 20,900.0 13,600.0 7,300.0 87,000.0 29,500.0 | 57,500.0 137,643.9 36,973.3 | 100,670.6
w)n pynut
1 |<K& LNk UUMrR 2,685.0 2,685.0 0.0 16,728.8 10,684.4 6,044.4 70,603.4 22,649.4 | 47,954.0 111,667.2 27,951.2 83,716.0
wjn pynut
UWpwybpnh hwdwyup 710.0 710.0 0.0 5,543.0 4,361.2 1,181.8 21,043.1 10,052.9 | 10,990.2 | 29,757.0 11,757.0 | 18,000.0
wyn Eynut
Upugtinnh punwiph puwju
dhowywph ywhwwudwu W
710.0 710.0 0.0 5,543.0 4,361.2 1,181.8 21,043.1 10,052.9 10,990.2 29,757.0 11,757.0 18,000.0
pUuwysnipjwlu wnnnontEjwu
Ybpwlywugudwu Sdpwaghp
Odantu hwdwjup 1,007.8 1,007.8 0.0 3,715.0 2,707.6 1,007.4 12,303.5 4,644.5 7,659.0 19,806.2 6,194.5 13,611.7
wjn pynut
0&nLu gyninh puwywu
dhowywph ywhwwudwu W
1,007.8 1,007.8 0.0 3,715.0 2,707.6 1,007.4 12,303.5 4,644.5 7,659.0 19,806.2 6,194.5 13,611.7
puwlsnLeiwl wnnnontjwu
Ybpwlywuqudwu Sdpwaghp
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Unweoht Gnwdujwy Unwoht Yhuwdjuy huu widhu Swph
wyn pYnid’ puwnn wyn pYnd’ puwn wjn pYnid’ puwn wyn pYnd’ puwn
pynpbwnwjhu éwjuubkph pynpbwnwyhu dwhuubph pyngbwnwjhu Swluubkph pyngbwnwhu dwhuubph
nuwnbuwghunwlwu wnunbuwghnmwlwu nuwnbuwghunwlwu wnunbuwghunmwlwu
nwuwljwpgqiw nwuwlwpqiwu nwuwljwpqiw nwuwlwpqiwu
hnnjwdéub hnnqwéub hnnjwdéub hnnqwéub
Cunfuyluph wtubinup njwéubph nwéutiph nqwéubph nwéutiph
Cunwdbup, Cunwdbup, Cunwdbup, Cunwdbup,
= s = s S s S s = s = s S s S s
£2| .52 g2 .52 £2| .52 g2 .52
=35 | 335 Z35| 335 =35 | 335 Z35| 335
o) = S S = 3 o) £ S S = 3 [ ] S = 3 o) = S S = 3
3 o2 = O 8 3 22 = 2 8 3 o2 = O 8 3 22 = > 8
£33 | 5% 55| 5T £55| 55 55| 5T
a23 | 383 dF5 | FT3 a5 | 373 dF5 | FT3
S £ S £ S £ S = S £ S £ S £ S =
Cunn hwdwjup 112.0 112.0 0.0 673.6 673.6 0.0 1,640.2 1,640.2 0.0 2,120.0 2,120.0 0.0
wyn pynut
Gunn gyninh puwlw dhowywyph
hywudwu b pu u
tuhuubidwl U plulignieju 112.0 112.0 0.0 673.6 673.6 0.0 1,640.2 1,640.2 0.0 2,120.0 2,120.0 0.0
wnnnontejwu Yybpwywugudwu
dpwghn
Uts Wpnd hwdwjup 80.0 80.0 0.0 267.2 267.2 0.0 582.4 582.4 0.0 682.3 682.3 0.0
wyn pynut
Utd Ujpnid gyninh puwwiu
] hywudwu b
howiuanh wwhujulidu 80.0 80.0 0.0 267.2 267.2 0.0 582.4 582.4 0.0 682.3 682.3 0.0
pUwysnipjwl wnnnontEjwu
Ytipwlywugudwu dpwaghp
Bin6luu hwdwjup 298.0 298.0 0.0 596.0 596.0 0.0 894.0 894.0 0.0 1,192.0 1,192.0 0.0
wyn pynut
andlwu gyninh puwywu
d hwywudwu W
e e 298.0 298.0 0.0 596.0 596.0 0.0 894.0 894.0 0.0 1,192.0 1,192.0 0.0
puwlsnLiwu wnnnontjwu
Ytpwlwuqudwu dpwghp
Cwnuwjwn hwdwjup 170.0 170.0 0.0 1,012.4 1,012.4 0.0 2,462.3 2,462.3 0.0 3,155.4 3,155.4 0.0
wyn pynut
Lwnwwwn gyninh puwywu
] hywudwu b
howiuanh wwhujulidu 170.0 170.0 0.0 1,012.4 1,012.4 0.0 2,462.3 2,462.3 0.0 3,155.4 3,155.4 0.0
pUwysnipjwlu wnnnontEjwu
Ytipwlywugudwu dpwaghp
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Unweoht Gnwdujwy

Unwoht Yhuwdjuy

huu widhu

Swph

wyn pYnid’ puwnn
pynpbwnwjhu éwjuubkph

wyn pYnd’ puwn
pynpbwnwyhu dwhuubph

wjn pYnid’ puwn
pyngbwnwjhu Swluubkph

wyn pYnd’ puwn
pyngbwnwhu dwhuubph

nuwnbuwghunwlwu wnunbuwghnmwlwu nuwnbuwghunwlwu wnunbuwghunmwlwu
nwuwljwpgqiw nwuwlwpqiwu nwuwljwpqiw nwuwlwpqiwu
hnnjwdéub hnnqwéub hnnjwdéub hnnqwéub
NN Cunfuyluph wtubinup njwéubph nwéutiph nqwéubph nwéutiph
Cunwdbup, Cunwdbup, Cunwdbup, Cunwdbup,
S 3 s 3 ] ] S 3 s 3 ] ]
£2| .52 g2 .52 £2| .52 g2 .52
=35 | 335 Z35| 335 =35 | 335 Z35| 335
o) = S S = 3 o) £ S S = 3 [ ] S = 3 o) = S S = 3
3 o2 o O o 3 22 <o O o 3 o2 o O o ER c o o
£33 | 5% 55| 5T £55| 55 55| 5T
a23 | 383 dF5 | FT3 a5 | 373 dF5 | FT3
S = S = S = S = S = S = S = S =
Cwqyh hwdwjup 0.0 0.0 0.0 2,220.0 0.0 2,220.0 16,915.0 0.0 16,915.0 30,051.1 0.0 30,051.1
wjn pynut
q
icudh o 0.0 0.0 0.0 2,220.0 0.0 2,2200 | 16,915.0 0.0 16,9150 | 30,0511 0.0 30,051.1
puwwwhwwuwlwu dpwaghp
Upnph hwdwjup 307.2 307.2 0.0 2,701.6 1,066.4 1,635.2 14,762.9 2,373.1 12,389.8 24,903.2 2,850.0 22,053.2
wjn pynut
Upnnh g 3072 307.2 0.0 2,706 1,066.4 | 1,6352 | 147629 | 23731 | 12,389.8 | 249032 | 2.850.0 | 22,053.2
puwwwhwwuwywu dpwghp ’ ' : VR YO0 1059. 1102 313 ,389. ,903. ,850. ,053.
2 |KL U3NkLhLPh UUMrR 259.0 259.0 0.0 2,078.1 902.8 1,175.3 10,759.6 1,824.1 8,935.5 18,311.0 2,466.0 15,845.0
wyn pynut
Ywwwu hwdwjup 0.0 0.0 0.0 657.0 0.0 657.0 4,995.0 0.0 4,995.0 8,875.0 0.0 8,875.0
wyn pynut
Ywwwu pwnwph puwywu
d
howiuanh wuhujwlidul b 0.0 0.0 0.0 657.0 0.0 657.0 4,995.0 0.0 49950 | 8875.0 0.0 8,875.0
puwlsnijwl wnnngntjwu
Ytpwlwuqudwu dpwaghp
Lwownw hwdwjup 0.0 0.0 0.0 903.1 384.8 518.3 4,987.6 1,047.1 3,940.5 8,400.0 1,430.0 6,970.0
w)n pynut
Lwownwt pwnwph puwlwu
dhowywiph ywhwwudwu W
0.0 0.0 0.0 903.1 384.8 518.3 4,987.6 1,047.1 3,940.5 8,400.0 1,430.0 6,970.0
pUwysnipjwlu wnnnontEjwu
Ytipwlywugudwu dpwaghp
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Unweoht Gnwdujwy Unwoht Yhuwdjuy huu widhu Swph
wyn pYnid’ puwnn wyn pYnd’ puwn wjn pYnid’ puwn wyn pYnd’ puwn
pynpbwnwjhu éwjuubkph pynpbwnwyhu dwhuubph pyngbwnwjhu Swluubkph pyngbwnwhu dwhuubph
nuwnbuwghunwlwu wnunbuwghnmwlwu nuwnbuwghunwlwu wnunbuwghunmwlwu
nwuwljwpgqiw nwuwlwpqiwu nwuwljwpqiw nwuwlwpqiwu
hnnjwdéub hnnqwéub hnnjwdéub hnnqwéub
NN Cunfuyluph wtubinup njwéubph nwéutiph nqwéubph nwéutiph
Cunwdbup, Cunwdbup, Cunwdbup, Cunwdbup,
= s = s S s S s = s = s S s S s
£2| .52 g2 .52 £2| .52 g2 .52
=35 | 335 Z35| 335 =35 | 335 Z35| 335
o) = S S = 3 o) £ S S = 3 [ ] S = 3 o) = S S = 3
3 o2 o O o 3 22 <o O o 3 o2 o O o ER c o o
£33 | 5% 55| 5T £55| 55 55| 5T
a23 | 383 dF5 | FT3 a5 | 373 dF5 | FT3
S = S = S = S = S = S = S = S =
Utnph hwdwjup 259.0 259.0 0.0 518.0 518.0 0.0 777.0 777.0 0.0 1,036.0 1,036.0 0.0
wjn pUnut
Ugwpwl pwnwph puwywu
]
howduynh wwhujubdwt L 250.0 259.0 0.0 518.0 518.0 0.0 777.0 777.0 0.0 1,036.0 1,036.0 0.0
pUuwysnipjwlu wnnnontEjwu
Ytipwlywugudwu dpwaghp
3 |KL sudnhech Uur2 256.0 256.0 0.0 2,093.1 2,012.8 80.3 5,637.0 5,026.5 610.5 7,665.7 6,556.1 1,109.6
wyn pynwd’
Ujpnud hwdwyup 256.0 256.0 0.0 1,469.9 1,389.6 80.3 3,939.8 3,329.3 610.5 5,322.8 4,213.2 1,109.6
w)n pynut
Ujpnuw pwnwph puwlwu
]
howduynh wwhujubdwl L 99.2 99.2 0.0 411.2 4112 0.0 948.2 948.2 0.0 1,150.8 1,150.8 0.0
puwysnipjwlu wnnnontEjwu
Ytipwlywugudwu dpwaghp
Muinwywu gyninh puwlywu
]
howduynh wwhujubdw L 73.6 73.6 0.0 198.4 198.4 0.0 381.2 381.2 0.0 468.6 468.6 0.0
pUwysnipjwlu wnnnontEjwu
Ytipwlywugqudwu dpwaghp
<
wnpwliul gnuh 0.0 0.0 0.0 197.6 197.6 0.0 537.7 537.7 0.0 723.4 723.4 0.0
puwwwhwwuwlwu dpwaghp
H8lwann gnunh 0.0 0.0 0.0 72.8 72.8 0.0 223.1 223.1 0.0 254.9 254.9 0.0
puwwwhwwuwlwu dpwaghp
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Unweoht Gnwdujwy Unwoht Yhuwdjuy huu widhu Swph
wyn pYnid’ puwnn wyn pYnd’ puwn wjn pYnid’ puwn wyn pYnd’ puwn
pynpbwnwjhu éwjuubkph pynpbwnwyhu dwhuubph pyngbwnwjhu Swluubkph pyngbwnwhu dwhuubph
nuwnbuwghunwlwu wnunbuwghnmwlwu nuwnbuwghunwlwu wnunbuwghunmwlwu
nwuwljwpgqiw nwuwlwpqiwu nwuwljwpqiw nwuwlwpqiwu
hnnjwéub hnnywéub; hnnjwéub hnnywéub
NN Cunfuyluph wtubinup njwéubph nwéutiph nqwéubph nwéutiph
Cunwdbup, Cunwdbup, Cunwdbup, Cunwdbup,
S s S 3 e e S s S s e e
£2| .52 g2 .52 £2| .52 g2 .52
=35 | 335 Z35| 335 =35 | 335 Z35| 335
o) = S S = 3 o) £ S S = 3 [ ] S = 3 o) = S S = 3
3 o2 o O o 3 22 <o O o 3 o2 o O o ER c o o
£55| 55 55| 5T £55| 55 55| 5T
a23 | 383 835|553 8%5 | 753 835|553
S £ S £ S £ S = S £ S £ S £ S =
Pwgpwunwbu gqninh puwywu
dhowywiph ywhwwudwu W
83.2 83.2 0.0 288.3 208.0 80.3 1,033.3 422.8 610.5 1,574.3 464.7 1,109.6
puwysnie|wl wnnnontjwu
Ybpwlwuqudwu dpwaghp
Un6hu gnunh 0.0 0.0 0.0 166.4 166.4 0.0 452.8 452.8 0.0 637.2 637.2 0.0
puwwwhwwuwlwu dpwghp ' ' ' ' ' ' ' ' ' ' ' '
T
nawwl gnuh 0.0 0.0 0.0 41.6 41.6 0.0 108.8 108.8 0.0 1725 172.5 0.0
puwwwhwwuwlwu dpwaghp
Y
Pl gjninh 0.0 0.0 0.0 93.6 93.6 0.0 254.7 254.7 0.0 3411 3411 0.0
puwwwhwwuwlwu dpwaghp
LUnjkdpbpjwu hwdwjup 0.0 0.0 0.0 488.0 488.0 0.0 1,329.3 1,329.3 0.0 1,833.1 1,833.1 0.0
wyn pynul
Ptpnwywu gqninh puwlwu
]
howduynh wwhujubdwl U 0.0 0.0 0.0 488.0 488.0 0.0 1,329.3 1,329.3 0.0 1,833.1 1,833.1 0.0
puwlsnipiwl wnnnontejwu
Ytipwlywugudwu dpwaghp
Unnp hwdwjup 0.0 0.0 0.0 135.2 135.2 0.0 367.9 367.9 0.0 509.8 509.8 0.0
2npwlwu gyninh
0.0 0.0 0.0 135.2 135.2 0.0 367.9 367.9 0.0 509.8 509.8 0.0
puwwwhwwuwlwu dpwaghp
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